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Exercise 1.3.3 Page 1

Write down the value of the following
01/2 —
11/2 —
41/2 —
9l/2 _

21/2 — /2 is an irrational number, it is also called a surd.
31/2 _

Indices — p.7/7



Exercise 1.3.3 Page 1

Write down the value of the following

0172 = 0.
11/2 —
41/2 _
9l/2 —

21/2 — /2 is an irrational number, it is also called a surd.
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 _
9l/2 —

21/2 — /2 is an irrational number, it is also called a surd.
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Exercise 1.3.3 Page 1

Write down the value of the following

01/2 = 0.
1172 = 1.
4172 = 9,
9l/2 —

21/2 — /2 is an irrational number, it is also called a surd.
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

3'/% = /3.
(-2)"* =
81/2 _

2712 =
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

3'/% = /3.
(—2)*? = Does not exist!
]1/2 _
271/2 —
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

31/2 = /3.
(—2)*? = Does not exist!
81/2 = /8
271/2 =
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

31/2 = /3.
(—2)*? = Does not exist!
81/2 = /8 = 2V2.
2712 =
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

31/2 = /3.
(—2)*? = Does not exist!
81/2 = /8 = 2V2.
27/% = /27
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Exercise 1.3.3 Page 1
B -

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

3'/% = /3.
(—2)*? = Does not exist!
81/2 = /8 = 2V2.

2712 — \/27 = 1/9 x 3
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

3'/% = /3.
(—2)*? = Does not exist!
81/2 = /8 = 2V2.

2712 = /27 =v/9x 3=v9 x V3
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Exercise 1.3.3 Page 1

Write down the value of the following

0'/2 = 0.
1172 = 1.
41/2 = 2,
91/2 = 3,

21/2 — /2 is an irrational number, it is also called a surd.

3'/% = /3.
(—2)*? = Does not exist!
81/2 = /8 = 2V2.

271/2 = /27 = /9 x 3 = V9 x V3 = 3V3.
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